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SECOND SEMESTER EXAM CORRECTION

Exercise 01 : To combine each pair of sencetences with the given connectors , using the
correct form of the verbs. (07p)

1. Theice cream melted because the car was hot.

Due to the bad weather, the match is cancelled./ the match is cancelled due
to the bad weather.

She made one big mistake, as a result, she lost her job.

It was my friend’s birthday so i baked a cake.

When the dog saw the postal worker, he/it started barking.

Since the electricity went out, the ice cream in the freezer melted.

Because of down sales, price increases.
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Exercise 02 : To fill in the blanks withaorb. (07 p)

| went to the tourist office to get few information.
Kids today spend so much Time on the internet.
| would like a hamburger.
| have less courage than you.
There was a lot of people in the concert.
| saw few People in the party.
Give me some water.
» (1p for each)
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Exercise 03 : To write an essay in which you tell your classmates, how do you manage your
time during your exams. (Using modal verbs). (06 p)

v" The structure : 03 p
v/ Contents : 02 p
v The modal verbs : 01 p



